
VSP2 >
VHBNein Ja

VHB 
VSP2

PKV = 1

BVSP =
VSP2 * 100

Nein Ja

VSPN >
VSPNein Ja

VSPN
VSP

Euro

VSPN =
VSP1 + VSP2

MVSP

ENDE

Euro

STKL =
3Nein Ja

1900
VHB 

3000
VHB 

VSP2 =
0,12 *

ZRE4VP

VSP1 =
0,52 * ZRE4VP

0
VSP1 

VSP1 =
VSP1 * 0,0945

ZRE4VP
> 58800Nein Ja

58800 
ZRE4VP

ZRE4VP
> 69600Nein Ja

69600 
ZRE4VP

KRV = 0Nein Ja

Nein JaKRV > 1

ZRE4O
ZRE4VP

UPEVP Vorsorgepauschale
(§ 39b Absatz 2 Satz 5 Nummer 3
und Absatz 4 EStG)

Es wurde 
berücksichtigt
dass
a) die BBG (Ost)
58.800 Euro
und die BBG
(West) 69.600 Euro
sowie
b) der Beitragssatz zur
Rentenversicherung 
18,9 % betragen.


	Slide 1



